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TH < Dt 4,852,815 4,863,125 10,310
2 73,602 73,602 0
2 4,779,213 4,789,523 10,310
NSME 2¢ 520,696 521,770 A1,074
2 53,124 53,124 0
2 467,572 468,646 21,074
SEX NE=2< 299,955 302,575 N2,620
2 46,124 46,124 0
2 253,831 256,451 A2,620
M 2ot May 35,075 37.695 A2,620
202 04 bl 1,000 3,620 A2,620
01 2L oi] 1,000 3,620 A2,620
o WHAIAE ZAL L 2EHAME &=
ZH 20,0008 * 58 * 5 500 2,520 A2,020
o B MRZXA ZH 50,0008 * 28 x 5 500 1,100 600
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2 46,124 46,124 0
2 49,944 49,944 0
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2 46,028 45,836 192
2 49,840 49,632 208
01 AbR2teldl 95.715 95,315 400
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2 1,300 1,092 208
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01 2ol 200 600 400
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ZE 20,0008 * 2% * 5 200 600 A 400
3 9% 288 A192
2 104 312 208
NSA &==2el 220,741 219,195 1,546
2 7,000 7,000 0
2 213,741 212,195 1,546
NN Bgs HNM 88,620 90,020 A 1,400
2 7,000 7,000 0
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01 2ol bl 100 1,200 A1,100
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I B 192,923 200,923 £8,000
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2 10,0008 * 28 * 20 400 1,400 A1,000
HAzel 3,828,556 3,826,432 2,124
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202 Oddl 600 2,400 A 1,800
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